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(*) Instructions to candidates:
\ i 

- 
nu ouestions are compulsory' .-';:\ ;il;;l;1he right indicate fuli marks'

ii ;3.-;; .;i"t'tiii"-"'l"t'lator is allon'ed'

;i ;;;;il;l" a't' where ever required'

[Max Marks: 20]

l3\ B -eTt)

Qu. 1)

Qu. 2)

a)

AttemPt any one

Classify even and odd part of the following function'

x(t) = 3+2t+5t2- . _: _^^1 :, nal or
Ci;"=ify whether given signal is an ener$/ slgl

power signal.
i(.) = rect(t) cos ( rl\t

Sketch the waveform for the following signal'

,t"l = r.(n+ 1) -,r(n) - u (n - 2) .1nat or
ij"i"r*irre wirether signal x(t)= tu(t) is energr st5

power signal

a) tt"Jflt Til"',l:. following systems are static or l4+4)

dynamic
y(t1=*1t1"in2t and' y(t) : x(t+1) +5'

Determine *h;th";' th" 
'following system is time

variant or not'
y(t): x(t) cos x(t)

b) Check whether the ioilowing system represented' by l4+4j

input output relation is linear or not

y(t)=3x(t)+S , r1- --- +r^^ r^lrn causal or
ti"["rmirre whether the following systems rs

not
y(t)=x(t) sin(1+t) and v(t) = J:.:x(r)d"r

14 +41

14+41
b)

L

a)

b)

AttemPt any one

ComputetheConvolutionintegraly(t)=h(t)*x(t)by4
il;tt""l methoJ. x(t)= u(t)-u(t-2) h(t1=" zt'"'
Compute the Convolutitn of'discrete time signal using 4

il;;i; methoJ "("):"(")-u(n-a) 
and h(n)= {1'1'1'U

Qu. 3)
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